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No Solution 
Sub 
Mark 

Total 

 
1 

 
Let Haiqal x  and Syafiq y  

1
0.2 3/ 3

5
x y x y     

2 3 5y x   

3 0.2x y      OR    15 5y x   

 2 3 5 3 0.2y y        OR    
2

15 5 3 5x x    

2 12 0y y            OR    
225 155 228 0x x    

  4 3 0y y               
      

 

2
155 155 4 25 228

2 25
x

    
  

 

y = 3, x = 2.4 

 

Haiqal = RM 2.4 juta dan Syafiq = RM 3 juta 

 

 
 
 

P1 
 

P1 
 

K1 
 

K1 
 
 
 

K1 
 

 
 

N1 
 
N1 

7 
 
 

2(a) 

 
K1 

 
 
 
 
 
 
 
 
6 

 
K1 

 
N1 

(b) 

 
K1 

 

 
K1 

 N1 

3(a)  (2,2) P1  

6 
(b) 

 (
2

3
)𝑚2 = −1 K1 

  𝑦 − 6 = −
3

2
(𝑥 − 8) K1 

2𝑦 = −3𝑥 + 36 N1 

(c) 
 √(𝑥 − 2)2 + (𝑦 − 2)2 =  √(8 − 2)2 + (6 − 2)2            or 

   √(𝑥 − 2)2 + (𝑦 − 2)2 =  √(−4 − 2)2 + (−2 − 2)2  
K1 
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𝑥2 + 𝑦2 − 4𝑥 − 4𝑦 − 44 = 0 N1 

4(a) 𝐶6 2  or   15 1 
 
 
 
 
 
6 

(b) i) 

 
6!

2!
  

 
1 

360 1 

 ii) 

 
3!

2!
   or   3!  or  𝑃4 3    1 

3!

2!
× 𝑃4 3   OR   

3!

2!
 × 3! × 4 1 

72 1 

5(a) 

Dengan menggunakan segi tiga bersudut tegak, 

𝐻𝑖𝑝𝑜𝑡𝑒𝑛𝑢𝑠 = √𝑥2 + 𝑦2 

sin𝜃 =
𝑦

√𝑥2 + 𝑦2
 𝑜𝑟 kos 𝜃 =

𝑥

√𝑥2 + 𝑦2
 

OR 

Dengan menggunakan teorem Pythagoras, 

𝑎2 + 𝑏2 = 𝑐2 

𝑎2

𝑐2
+

𝑏2

𝑐2
=

𝑐2

𝑐2
 

 

1 

8 

Sebelah kiri = 𝑠𝑖𝑛2𝜃 + 𝑘𝑜𝑠2𝜃 
 

= (
𝑦

√𝑥2 + 𝑦2
)

2

+ (
𝑥

√𝑥2 + 𝑦2
)

2

 

OR 

(
𝑎

𝑐
)
2

+ (
𝑏

𝑐
)
2

= 1 

 

1 

=
𝑦2

𝑥2 + 𝑦2
+

𝑥2

𝑥2 + 𝑦2
 

=
𝑥2 + 𝑦2

𝑥2 + 𝑦2
 

= 1 

OR 

𝑠𝑖𝑛2𝜃 + 𝑘𝑜𝑠2𝜃 = 1 

 
 
 
 
1 
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(b) 

𝑃 = 4, 𝑄 = 3,𝑅 = 1 
Any one of the answer correct get 1 mark 

2 

 

 
 
Shape of graph 

Amplitude 

Cycle 

 

 
 
 
 
 
 

 
 
 
 

1 

1 

1 

6(a) 

𝑑𝑦

𝑑𝑥
=

1

2
𝑘[11 − (−1)] = 3 K1 

7 

𝑘 =
1

2
 N1 

(b) 

1

4
(11 − 𝑥) = 0 K1 

𝑥 = 11 N1 

(c) 

 
P1 

 
K1 

 
N1 

7(a) i)    
a = 2136 

d = 140 

 

15 Mei 2020 = T15 

 

T15 = 2136 + 14(140) 

      = 4096 

 
1 
 
 
1 
 
 
 
1 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ii) ii) 31 Mei 2020 = 4096 
1 Jun 2020 = 2048 
 
a = 4096 dan r = 0.5 
 
4096 x 0.5(n-1) < 1 
 

 
 

 
1 

 
1 
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 0. 5(𝑛−1) <
1

212
 

                    

13 Jun 2020 
OR 

apply a = 4096 and r = 0.5 
 
4096,   2048,   1024,   512,   256,   128,   64,   32,   16,   8,   4,  2,  1,  0.5 
 
13 Jun 2020 
 

 
 
1 

OR 
 
1 
 
1 

 
1 

 
 
 
 
 
 

10 

(b) a + a + 2d + a + 4d + a + 6d + a +8d + a + 10d = 222 

6a + 30d = 222   or     a + 5d = 37 

a + 10d = 50.75 

menyelesaikan persamaan serentak 

d = 2.75 

a = 23.25 

  OR 

6

2
(𝑎 + 50.75) = 222 

a = 23.25  

6

2
[2(23.25) + 5(2𝑑)] = 222 

d = 2.75 

 

 
1 
 
1 
 
 
1 
 
1 
 

OR 
 
1 
 
1 
 
1 
 
1 

8(a) 
 

𝑥2 0.49 1.44 1.96 2.89 3.61 4.84 

𝑥𝑦 84.00 69.00 60.06 45.05 36.48 14.96 

 
N1 

 
N1 

 

 
 
 
 
 
 
 
 

10 

(b) plot  𝑥𝑦  against 𝑥2(correct axes and uniform scales) 

6 points plotted correctly  

Line of best fit 

 

K1 

N1 

N1 

(c) i) 
y = 21.98 

P1 
 

ii) 𝑥𝑦 = 𝑎𝑥2 + 𝑏 

use 𝑚 = 𝑎 or c = b 

a =−15.87 

𝑏 = 92 

 

P1 
 

K1 

N1 

N1 
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9(a) i) −6𝑥 + 3𝑦 1 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

10 

ii)  𝐴𝑇⃗⃗⃗⃗  ⃗ = 𝐴𝐵⃗⃗⃗⃗  ⃗ + 𝐵𝑇⃗⃗⃗⃗  ⃗                                         𝐴𝑇⃗⃗⃗⃗  ⃗ = 𝐴𝐷⃗⃗ ⃗⃗  ⃗ + 𝐷𝑇⃗⃗⃗⃗  ⃗ 
                                               OR 

       = 3𝑦 +
1

3
(6𝑥 − 3𝑦)                                   = 6𝑥 +

2

3
(−6𝑥 + 3𝑦) 

 

1 

 𝐴𝑇⃗⃗⃗⃗  ⃗ = 2𝑥 + 2𝑦 1 

(b) i) 
𝐴𝐶⃗⃗⃗⃗  ⃗ =

1

𝑘
(2𝑥 + 2𝑦) 

 

𝐴𝐶⃗⃗⃗⃗  ⃗ =
2

𝑘
𝑥 +

2

𝑘
𝑦 

 

1 

𝐷𝐶⃗⃗⃗⃗  ⃗ = 𝐷𝐴⃗⃗ ⃗⃗  ⃗ + 𝐴𝐶⃗⃗⃗⃗  ⃗ 
 

= (−6 +
2

𝑘
)𝑥 +

2

𝑘
𝑦 

 
 

1 

ii) 
 

Dengan perbandingan/ By comparison 
 

−6 +
2

𝑘
= −2      𝑂𝑅      2ℎ =

2

𝑘
 

 

1 

ℎ = 2 1 

𝑘 =
1

2
      1 

(c) 1

2
× 6|𝑥| × 5 = 120 1 

|𝑥| = 8 𝑢𝑛𝑖𝑡 1 

 
10(a) 

 
 

 
 
 

(b) 
 
 
 
 
 
 
 
 
 

Solve simultaneous eqn:   𝑦 = 𝑥2 − 4𝑥 + 4  and 𝑦 = −𝑥 + 2   

 (𝑥 − 2)(𝑥 − 1) = 0   

A(1,1) 

 

Integrate  

Use limit in   OR  

area trapezium  
 

K1 

K1 

N1 

 
 
 

K1 
 
 
 
 

K1 
 
 
 

 
 
 
 
 
 
 

 
10 
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(c) 
 

       
  

    

Integrate  

Use limit  
 

 
 

 
K1 

 
 

N1 
 
 

K1 
 
 
 
 

K1 
 
 

N1 
 

 
 
 
 
 
 
 

11(a) 
i) 

 8C0 x 0.40 x 0.68 atau 8C1 x 0.41 x 0.67 
  

1 − 8C0 x 0.40 x 0.68 − 8C1 x 0.41 x 0.67 
 

0.8936 
 

1 
 
1 
 
1 

 
 
 
 
 
 
 
 
 
 

10 

ii) 
 138 = n (0.6) (0.4) 
 
n = 575 

1 
 
1 
 

(b) 

1.34 = 56.2 – μ 

                   σ 
 

−1.86 = 43.4 – μ 
                   σ 
 
solve simultaneous eq , 3.2 σ = 12.8 
 
σ = 4 
 
μ = 50.84 

1 
 
 
1 
 
 
1 
 
1 
 
1 
 

12(a) 

𝑡 = 4 K1 
 
 
 
 
 
 
 
 

10 

      𝑣 = 42 − 8(4) − 20 K1 

     𝑣 = −36 𝑚𝑠−1 N1 

(b) 

b)  (𝑘 − 10)(𝑘 + 2) = 0 
 

K1 

         𝑘 = 10 N1 
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(c) 

    𝑠 =  
𝑡3

3
−

8𝑡2

2
− 20𝑡 K1 

  𝑠 =  
(10)3

3
−

8(10)2

2
− 20(10) K1 

     𝑠 = −266
2

3
  N1 

(d) 
 |∫ 𝑡2 − 8𝑡 − 20 𝑑𝑡

10

0
| + ∫ 𝑡2 − 8𝑡 − 20 𝑑𝑡

15

10
 K1 

     458
1

3
𝑚 N1 

13(a) 
i) 
 

 
 

ii) 
 
 

sin𝜃

3
=

𝑠𝑖𝑛31

5
 

∠DAC = 18𝑜 

 

62 = 72 + 52 − 2(7)(5)𝑘𝑜𝑠𝜃 

∠BAC = 57.12𝑜 

 

 
K1 

N1 

 

K1 

N1 

 

 
 
 
 
 
 
 
 
 
 
 
 

10 

(b) i) 
 
 
 
 
 
 
 
 
 

 
 
 

ii) 
 
 

iii) 

 

 
 

∠𝐴𝐷′𝐶 = 180𝑜 − 31𝑜 = 149𝑜 

∠𝐴𝐶𝐷′ = 180𝑜 − 149𝑜 − 18𝑜 = 13𝑜 

𝑙𝑢𝑎𝑠 𝐴𝐷′𝐶 =
1

2
(3)(5)𝑠𝑖𝑛13𝑜 

1

2
(3)(5)𝑠𝑖𝑛13𝑜 = 

1

2
(5) ℎ 

h = 0.6749 cm 

 
 

N1 
 
 
 
 
 
 
 
 
 

K1 
 

N1 
 

K1 
 

K1 
 

N1 

14(a) 
 

x + y ≥ 20 

x ≤ 2y 

2x + y ≤ 40 

 

N1 

N1 

N1 

 
 
 
 
 
 
 
 

10 
 

(b) Draw correctly at least one straight line  

Draw correctly all the straight lines 

Region shaded correctly 

 

K1 

N1 

N1 
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(c) i) 
40 P1  

 
 
 
 

 ii) 

(12,8) 
 
6(12) + 3 (8) = RM96 
 
baki wang yang maksimum = RM24 

P1 
 

K1 
 

N1 
 

15(a) 

 
 
 

K1 

 
 
 
 
 
 
 
 
 
 
 
 
 

10 
 

 N1 

(b) i) 
 
24

16
× 100 

x =150 

K1 

N1 

ii) 

 

 

         

K1 
 

N1 

(c) 

 
 
 

K1 
 

y =118 N1 

(d) 

145

𝑃16
× 100 = 123 

 

K1 

RM 117.89 
 

N1 
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14(b) 

 


